Math 1B, Section 106 Your name: klﬁi

Quiz 10, December 2, 2009 O
Please write your name on each sheet. Show your work clearly and in
order, including the intermediate steps in the solutions and the final answer.

1. (7 pt) Find the general solution of the equation
Yy’ —y=e"+xsinx.
Find the solution satisfying y(0) =0, y (0) 1.
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2. (3 pt) Consider the equation
4x"(t) + cx'(t) + 9x(t) = 0.
(a) For which positive values of ¢ do we have underdamping, critical damp- ‘ 4 q _ \ 2 2

ing, or overdamping? Explain.

(b) Take your favorite value of ¢ for which we have underdamping and
find two linearly independent solutions to the differential equation.
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